M04._03

M 042082  :asbed) Jlad) —1
1) dan -2
Al R Iy -3

.\_=t‘4)‘~=‘
L
V¢ @
W ®
MO

salady) ARl Jipadd) —4

ol 3 and & —1.

A 15
& 14
© 13
(D) <
D,

What is the value of 2a +

4
—
N
-

-
S

X

: Jlpad) ilaglan —5

Jila) o L) A

£l d Y] j

: sl cliilan) —6

6.7 4.7

9.2

12

9.2

62




M 042088 sl : Sl —1
V) 2 -2
sl ARG gy -3

9 ) Q%)

¢ A s I aly oS LSV Jsl cball e g gsbon SN s Ok T s (sslasy IV GapiV1 sl

Bag -l

g + o2

ey ARG Jsd) —4

C =0 0

The first pipe is x meters long. The second pipe is y times as long as the first one.
How long is the second pipe?
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In Zedland, total shipping charges to ship an item are given by the equation
y = 4x + 30, where x is the weight in grams and y is the cost in zeds. If you have

150 zeds, how many grams can you ship?
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Which of these is equal to 2(x + y) — (2x — y)?
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Which point is on the line y = x + 2¢

(0, -2)
(2, —4)
(6, 4)

Jila) o L) A

£l

d

Liual) gl

o 9al) Jau gial)

w

Sy

71



M 032198 e S Jsd) —1
: o) Ciin —2
:Apapal) a1 Jgadd) -3

M05_02
=iy x "y
o @
o O
NG
IO

A salady) ARG Jsad) —4

f_‘ -"'. | -
(B i
S
T e
i o
(C) Dl
TN ~

y Gl
|\~;Jj OGE

1) Cilaglea =5

: Jpead) Ciliilaa) -6
(M032198-M05_02)

Sl o L) A

K] d - )

5.4 6.5

5.6

6.8

72



M 032640 :de &I Jlaad) -1
1) B2 -2
sl 4R gy -3

A4kl Lelee Say Al Glagyall 22 Lo v Cia (8 Gl 4 Jead Gnadinl Gl 2ge 13 ¢ JSA) 8
Jage 73 aladiuly Lads

feia) ) DA G ilasi ) il o

—_—alay)

& 1 @ 1 @ 1 @ 1

dasaal) aliay)

dglual) @i ghily 24

A ad sy

dnlua il ghd 090 24

dapall E cliay)

Banfins s Aayaia 5 oA cibia) ol

Alal

“ e

48 g sia

73



sty ARG Jsad) —4

[n the figure, 13 matches were used to make 4 squares in a row. What is the
number of squares in a row that can be made in this way using 73 matches?
Show the calculations that lead to your answer.

Answer:

Code ‘ Response Item: M032640

| Correct Response

20

24 with calculations

| Partial Response

10

24 with no calculations or no relevant calculations (includes only drawing and counting squares)

| Incorrect Response

79

Incorrect (including crossed out/erased, stray marks, illegible or off task)

I Nonresponse
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Which of the following equatio
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Starting the pattern at 2, which of these rules would give each of the terms in the
number pattern above?

-~

(A) Add 1 to the previous term and then multiply by 2.

(8) Multiply the previous term by 2 and then add 1.

(© Multiply the previous term by 3 and then subtract 1.

(D) Subtract I from the previous term and then multiply by 3.
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The number of jackets that Haley has is 3 more than the number Anna has.
[f n is the number of jackets Haley has, how many jackets does Anna have in
terms of n?
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